IRAT EBK

WORLDWIDE PARTNER

Box— // &, weRERK.
11-14



IRATEDK

Brx— // BRI
MR )

// 1/ 8 2R



IRATEDK

// &, ERERE.

fFipHER!

BFRISEL

BA:

1 11-14

60

BEBAIE:

E2 7

//

1/ %8 @3) B



VISA ¥ IBAA B Ek

WORLDWIDE PARTNER

Bx— // BPEs

BRAIGENMTEEIIRLR
(4HEE

REEREZHE?

5 2

- O

HESE

ZHi
REHE :

EREREE

- 8 40 160

HBEBITHME ?

#ERFO

// 1// % 4B



VISA Yiz:n IHAA BBk

WORLDWIDE PARTNER

Brx— // BEHE5| (HHIR)

A
R
=
IR
= FFIR (APR)
ERNEESE
A& x FIR x B = EENFIR
1,000 5%
1,000 x0.05x1 = 50
#R
1,000 5% 50
50
52.5
1,000 x0.05x1 = 50
1,050 x0.05x1 = 52.5
723ER)
72
72 =
10% O

72 10=7.2

// 1// % (B)ER



VISA ¥ IBAA B Ek

WORLDWIDE PARTNER

Brx— // BEHE5| (HHIR)

FAE AR R hN{alseiE
1.
2. FeEhE
3.
4. FIZE

#EFO =EFA

FRFEO

<—}

SEED HEEO EMEFIKED]

// 1// % (6) B



VISA ¥ IBAA B Ek

WORLDWIDE PARTNER

giyx— // im

1. NRFREMERT, MIRREHECHRTINEERESL.
[ ]

2. EmEEMFR, ERRETESEN?
[ 1

3. MR TEERFERERKER, 5 —EEREREARBHNEIEILCZE.
[ O 1

4. MRFBETHEFERNE—RIMOER,
[ 1

5. MRIRFLEE TS AEIRERE .
[ ]

// 1/ %8



VISA ¥ IBAA B Ek

WORLDWIDE PARTNER

Byx— // AR

10. O 2

// 1// % (8) B



VISA Y5 AL B ER

WORLDWIDE PARTNER

Bx— // &8

EE
B
X = -+ =
( 5% = 0.05)
- -
X = -+ =
( 5% = 0.05)
=4 :

( 5% = 0.05)

100 3%

500 5%

// 1/ 8 () R



VISA Y7

WORLDWIDE PARTNER

A1 EBK

Bx— // &3 (HE)
72:%81 72
72
72
5% 72+5  14.4
10 72+10  7.2%
72
El$RR fFEBY
72 3%
72 5%
72 6
72 15
72 HE

//

1// % (10) B



VISA Yiz:n IHAA BBk

WORLDWIDE PARTNER

Bx— /) BR
EREE .
1 2 3 4 5. 6. 72 7
8 9. 10
EEHEER
100 3%
100 x 0.03 + 100 = 3 + 100 = 103
103 x 0.03 + 103 = 3.09 + 103 = #&#%106.095%
500 5%
500 x0.05 + 500 = 25 + 500 = 525
525 x 0.05 + 525 = 26.25 + 525 = 551.25
551.25 x 0.05 + 551.25 = 27.56 + 551.25 = j#&#578.815%
72 EER
EIEES R
72 3% 24
72 5% 14
72 12% 6
72 4.8% 15

1/ 1/ % (1) B















VISA ¥ IRR4 B EK

WORLDWIDE PARTNER

Bxl /) &R

EREEE
1. 2. 3. 4, 5. 6.
BIEE .
HF : aatg [=7. N EFREES pod-Zd
PRSE M RT SERGEINE
X
X
39 X X
X
X
169 X

// 4/1 8 9 ERE



